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2. This paper consists of seventy five multiple choice type of
questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept

a booklet without sticker seal and do not accept an open

booklet.

Tally the number of pages and number of questions in
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page. Faulty booklets due to pages/ questions missing
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will be replaced nor any extra time will be g1v
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4. Each item has four alternative responses marked 1), @), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
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duplicate copy pf OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.
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Note :

COMMERCE
PAPER - III

This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. The method being used for Transferring Complex Technology is known as: g~
(1) Licensing Agreement (2) Transfer of Technology ; r# )
(3) Turnkey Contract (4) None of the above f .
2. Which of the following is not a ‘force” in the “Porter Five Forces Model” ? *
(1) Buyers (2) Supphers :
(3) Complementary produce In. }ustry rlvalry E
3.  LIBOR term is used for : r' _JI
(1) Deposit rate in European market F \ [
(2) Interest rate in Euro currency market fl F
(3) Deposit rate applicable to mterkank loans in LoFd'on .
(4) Interest rate in Euro bond malfet
. )
4.  Which of the following chana.ctedi'ises the early stage financial crises ?
(1) Falling the price of residential properties
(2) Excessive eup}{?ria about the future price of certain assets
(3)  Excessive pessimism about future assets price
(4) Stragnating share price
|
5. | Assertion (A) : 'HF; 1991 Government decided to allow all foreign investments to any industry
ithout any restrictions.
Reason (R) : Government has enhanced the investment limit of small scale industrial
units.
Codes : |
(1)|'* Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) y Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (;&) is true but (R) is false.
(4) (A) is false but (R) is true.
oass [ LN z Fapeca
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6. When a business is purchased, any amount paid in excess of the total of assets, minus the
liabilities taken, is called :

(1) Share Premium (2) Goodwill
(3) Capital Employed (4) Working Capital

7.  Indicate the correct code as regards the sources of funds for a Funds Flow Statement from
the following :

(a) Increase in working capital ¢
(b) Decrease in working capital ,.(" )
(c)  Writing off the intangible/fictitious assets { r

(d) Issuing equity shares for acquisition of a building for office
(e) Charging depreciation on fixed assets :
Codes : i

0 @O d @ 00 e <i;,- @@e @ o
8.  Which of the following statements are corregt ? | I
(a) Analysis and interpretation of financial statenl nts, is a function of accounting.
(b) Profit and Loss account is prepared for ascert. x'}léng fmanClal position of a firm.
() Goodwill is a wasting asset.
(d) Balance Sheet is prepared for ascertaining fmarﬁal position of a firm.
Select the correct answer using Qeﬁ&des given below :
Codes : Vi

(1) (a) and (b) (2) (@) and (c) (3) (a)and (d) (4)  (b) and (c)

9. Match the items of L,;st 1 with those of the List - II and indicate the correct code for the

following : {
List - I List - II
(a) = Debtors Turnover Ratio (i) Solvency Ratio
¢ (b) ProprietaryRatio (ii) Liquidity Ratio
(c) Operating 'ati(l)' (iii) Activity Ratio
(d) Acid Test Ratio (iv) Profitability Ratio
Codes : '

t (a) (b) I(C) (d)

W G @ 6@ o
@ LG 6 O @
@ @) o (v G
@ (v @) @

o-ass [ AR
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10.

11.

For the following two statements of Assertion (A) and Reasoning (R), indicate the correct
code :

Assertion (A) : Cash Flow Statement as per the financial statements as well is incapable in
revealing the overall financial position of a firm.

Reasoning (R) : Cash is an important constituent of the working capital based on the
recorded facts only.

Codes :

(1) (A) and (R) both are correct and (R) is an explanation of (A).
(2)  (A) is correct but (R) is not correct.

(3) (A) is not correct but (R) is correct {

(4) (A) and (R) both are incorrect /,.4' #

For the following two statements of Assertlon (A) %\?&Reasonmg (R), indicate the correct
code :

F 4

-

Assertion (A) : The quantity of a cemmodity demanded invariably changes inversely to
changes in its g?ce{

L)
Reasoning (R) : The price efféetis the net result of the positive substitution effect and negative
income effect.

Codes : -
f
(1) (A) and (R) both are|correct. (2)  (A) is correct but (R) is incorrect.

-

(3) - (A) is incgrrect but (R) is correct. (4) (A) and (R) both are incorrect.

a

=)}

12. Economic capacity of a plant represents its :

()f maximumiphysical output level

(2)& ~average output level over a period

(3) > break-even output and sales level

(4) output level that equates the average and the marginal costs
s [ LIHLHAR A
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13.

14.

15.

[ @

Match the items of List - I with those of the List - II and indicate the correct code :
List - I List - II
(a) Excess capacity of the plant (i)  Cost reduction with output expansion
(b) Resorting to New Technology (i) Constant cost with output expansion
(c)  Setting up of the Training Institutions (iii) Internal economies
(d) Reserve capacity of the plant (iv) External economies -F
Codes : /
@ ® © @ f ; 4
® @ @) @) () -
(2) @) @ (@v) (i) N
@ @ @ O @ N 4
() @) @) @) 0 A\ 7
."rlf | I'I
In case the elasticity of demand on an average revenue q-{lrve is equal to unity, the marginal
revenue will be : T
(1) more than unity (2) equal to upity V.
(3) equal to a fraction of unity % ((4) equal td zero
. J: |
Match the items of the List :_I‘v&ith those of the List - IT and indicate the correct code :
List - I List - II
(a) Trade Channel Discount (i) Oligopoly Pricing
(b) Loss Leadership | (i) Locational Price Differentials
(c) Pricing ibeing non - responsive to changes in (iii) Differential Pricing
the deman;i and the cost
Basing Poir} Pricing (iv) Product - Line Pricing
Codes :

~(a) (b) '| (© (d)

al @ @@ o
@\ i) v 0 G
@)@ ) )
@ O G @)
o-osss [[[[{HNI AN

@
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16. Statement - I: When a null hypothesis gets rejected in statistical hypothesis testing, it is
known as II type - error in hypothesis testing.
Statement - II : When a sample is small sized and parametric value of the standard deviation
is not known, z - test is the most appropriate test for hypothesis testing.

Codes :
(1) Both statements are correct
(2) Both statements are incorrect
(3) Statement - I is correct while statement - II is incorrect :
(4) Statement - I is incorrect while statement - II is correct \
&
{
17.  The following are the estimated regression equations for x and y variablgs : r
x=0.85y
y=0.89x ) {
With this information, the value of the coefficient of correlation. would be :
(1) 0.87 (2) 0.86 (3) G589 \ (4) 0.75
' *
18. The power of the statistical hypothesis testing s denoted by :
(1) o« (alpha) (2) B (beta) r_"l 3) 1- a.Ju' 4 1-B
19. Match the items of List - I and List - II and indicl%/ihe code of correct matching of the
items : V.
List - I List - 1Ly~ ©
A f
o P ' .
(a) 5 \ @  Measurement for Kurtosis
e !
a - %]
(b) o2 E# n AE r (ii) Calculated value of F ratio
P m ny |
1 20
b T 4 . _— . .
(c) u% (iii) Statistical approach to find out the size of sample
a
2 1 Ir
O-Sl f
(d) ¥R (iv) Calculated z value of mean differences
Sy !
Codes : |
L @ ()9 (d

(
MO @ @) W)
@" @ ) @ 0
@ @ ) @ 0
@

i) (iv) (i) (i)

(i)  (iv) (
o-ass [ TANNR
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20.

21.

22.

23.

o-ass

Assertion (A) : A reasonably large sized sample drawn randomly from a given population
contains almost all the characteristics of the population.

Reason (R) : As per the sampling theory, the assertion is based only on the ‘Law of Inertia
of Large Numbers’.

Codes :
(I) Assertion (A) is correct and Reason (R) as per the sampling theory is also fully correct.

(2)  Assertion (A) is correct but the Reason (R) as per the sampling theory §s not fully

correct. &

{

[

(3) Both Assertion (A) and Reason (R) are incorrect.

(4) Assertion (A) is incorrect but the Reason (R) is sufficient as per the sampling theory.

L

r

Which of the following approaches of team building is based on the belief that each person
possesses positive and negative characteristicssthat must be owned up to a permitted
expression ? <

(1) Process approach (2) .-'E‘.estalt approach

(3) Role analysis approach 4) ’ Parall%l learmng structure approach
Which of the following factors lead to %roup cohesivetne'ss‘? )

(a) agreement on group goalsﬂh { (b) high intra-group competition

(c) frequent interaction of r‘geinbdérs (d) personal attractiveness

Codes :

(1) @and(b) <« @ @ B)and(© () @ @and(@d @) () (b)and (d)
il i
w1
Assertion (A) : | “Uncertainty Avoidance’ is one of the dimensions of cultural differences, as
‘4 identified by Geert Hofstede.

/ Reasoning (R) :./Uncertainty Avoidance’ is the extent to which people feel threatened by

mbiguous situations. To avoid such situations, organisations provide
reater career stability, make more formal rules and reject deviant
behaviours.

Codes : |

(1) (A) is wrong (R) is right

(2) ¥ Both (A) and (R) are wrong

(3) Both (A) and (R) are right and (R) is the correct explanation of (A)
(4)

Both (A) and (R) are right but (R) is not the correct explanation of (A)
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frefafed 8 § -9 T2 98 Hldbdw %I 3R A S %7

(a) HE A& W HeAld o I £ (b) I=9 SHaU-9g yfaeadi
(c) wewl H =g équlq 11 S (d) AfHRTA STRY

e :

(1) () T (b) !:' @@ O @) @ @©@Wd @ (@) b
w |

== (A) o d. S gmie & AuR ' erfafieadr iR’ wiwpfas faue #1 T 18q 2|

jmm _erffieraar after’’ o Him R Sl ao safaa ererse feafadl @ emifera w®ar ®

ffeafiedt S R F F o Te S A R YaE w9 ¥ o
ol 1 s € qen feafara strereil i garfed wd © |

(1) (A)W%lﬁ'{(R)W%I

) ¥ (A) 3R (R) ST Tert €

() (A) st (R) 3 W ¥ T (R), (A) B T s F@
(4) (A) 3R (R) AT T §, WG (R), (A) FT T&l AT & 3l B

MR s
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24. Which of the following is the internal conflict or anxiety that occurs when people receive
information incompatible with their value systems, prior decisions and knowledge ?
(a) Polarisation (b) Cognitive dissonance
(c) Premature evaluation (d) Projection
Codes :
(1) (a) and (b) (2)  Only (b)
(3)  Only (d) 4) (@), (b), () and (d) \
4
{
25. Matrix organisation structure is essentially a violation of the principle ofi: f
(1) Unity of Command (2) Scalar Chain {
(3)  Unity of Direction (4) Division of Labour = ~ !
. N L |i
-
26. Which of the following statements is not true j ,'
(I) One sided messages work best w1’fhr audiences fhose are initially predisposed to
communicator’s position. !
(2) Two sided arguments work best with audiencesf%:lho are similar and not opposed.
(3) Two sided messages tend to beimore effective V}Pitﬁ Better educated audiences.
(4) Two sided messages tend_to R’e more effective 'with audiences those are likely to be
exposed to counter pro;iaﬁ?i
27. In the course of converting to a marketing-oriented company, a company may face which of
the following hurdle'é.i, d -
(1) Organised resistance| (2) Slow learning
(3) Fast forgetting (4) All of the above
|
/ N
28.1 A person’s distinfuis'hing psychological characteristics that lead to relatively consistent and
enduring responses to his or her environment is called :
(L) Life style | (2)  Self-concept (3) Personality (4) Attitude
|
29.  When electronic markets permit prices to change faster even daily as a function of demand
and'supply then this practice is called :
(1) competitive pricing (2) e-marketing pricing
(3) yield management pricing (4) none of the above
o-ass [N y Fapeca
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24, Trefafed § @ w19 o1iafie Ho e fa= € S 9 sfed gl € STd Tk safad THt o I S ©
S 3Tk Ao s, gd ol v 9 9 e 76 @ § 2

(a) gateRTu (b) T STHM

(c) STIRUF e (d) &

%<

(1) (a) T (b) (2) e (b)

(3) e (d) 4)  (a), (b), () T (d) /
25. Hfeem Wred wE Hived w9 9 frg fagra &1 sifawo 82 J f

(1) QW T THT (2) ThER A

(3) faum =t Thal (4) gA-favrE

s A |i

26. freAfefed & § BH-w1 Fom wl T8 32 f/” }.'

(1) T T H 3 el & o s7eqem g & € S greew § & wewrer ki fearf & g g

T T E | [ \
(2) 1 A o A ¥ e s et & g el 2 , e A

(3) & gew e forfe sﬁmsﬁaamafwgwa?aﬁr”

(4) a‘rarcmﬂ%’ﬂﬁrémﬁ%maﬁﬁuwm@ﬁ.ﬁmwﬁ%eﬁﬁﬁmwﬁaw
B FT HTE T F .h":‘a._
27. fouorHmgEl w0t & €9 # gRafid 89 % SRE TE S o efataa § 9 e sy &1 e
FATTCERATE?
(1) @fed gfady Y ) e stfrm
(3) IS Yo | (4) SR qft
"

28. ( T Al F IH FU § 70T fe@m ot wHewfw e, < SHeh TR & ufd sTfshen |
(1) Sied et (2) T@-3TEEROM () e (4) erfgfa
I
29. A AR Mt e S gATRiTE TSR HITd w1 IS W, Tei as fF gfdfed & SUR W, I5e wi
AR &, T A TR F oAy T
(1)  feeaicss wma i ) E-foqum wma fuRo
(3) UeER YEUATER ®iHd fuRn (4)  SWiE § B8 T

o-osss [N i
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30.

31.

32.

Match the strategies given in List - I with the examples given in List - II :

List - I List - II
(Strategies) (Examples)
(a) Differential Pricing (i)  Customer lounges to sit in while waiting for a

table at service centres, etc.

(b) Complimentary Service (i) Breakfast service by McDonald’s and mini
vacation and weekends by hotels

f
(c) Reservation System (i) Low prices for early and evening movies,
weekend discounts for car parking refitals

(d) Non-peak Demand Cultivation (iv) Airlines, Hotels and Physicians employ

extensively
Codes : y
(@ (®) () () iy
M @ @) G () Y .
() (v) @) @ () Jf/ﬂ [
@) (@) @) (v) (i) / 1
(4) () (@) (@v) () \ (/

From investor’s point of view, the cost Sf capital is : "
(1) Interest Rate < I (2) Market Value
(3)  Yield of Capital Sacrifice { < (4) Stock Exchange Value

Formula for net cash inflow of a project is :

(1) Sales—Operatidg Expenses — Interest — Tax

(2) Sales —Operating Expenses
(3) Net Pmﬁ; after tax + Depreciation
(4) Gross Profit +Depreciation

33. Concentration Banking is a method of :
(1) - Decentralised collection (2) Centralised collection
(3) Direct collection (4) Payment only through cheques
II'.
34. In cgse, cost of capital is 10%, EPS X 10, IRR 8% and Retention Ratio is 60%, then the value
of equity share as per Gordon’s Model will be :
(1) <100 (2) %87 3) 90 4) R77
oass [ LILHAR A 1 Faper-
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30. Gt - I H yS WHIGE! 1 el - 1§ 53 T el § gafad i :

et - 1 et - 11
( TuTifeat) ( e )
(@) fades #rma fufo () T I ST e fRE Far e H @l T
e T ST Welal X ¥
(b) e Famd (ii) ﬁmﬁw@maﬁiéﬁmﬂgm
shTel SR TR T Hamd | {
(c) STRET awen (i) mmwaﬁt@%mﬁmmhﬁ?w
ik fodre & wwameid g2 1
() TR-ferer =i s (iv) TR, BIeel AR Sl THhl Hh T F €|
&R '
(@ (b) (o) (d) (
1 @ @) G () A ’
(2) (@{dv) (@) (@) (i) ,.'f _|'
3) @) @) (Gv) (i) f \ I
(4) @) (@) (@v) (i) ”j

31. fafvee & gfesm @ I arm & -
EBIERIES] GltenlVl tﬁﬁ lld N / T!/q
1) = (@ TR

(3) Ysit @ 1 yfawa k?{ (4) T faufon ge

32. v&ﬁw%g&ﬁmaﬂaﬁmqﬁ%

(1) fasa— wlma’m — &[S — T

) ﬁm—u’%ﬁ-«ra‘m !
3) aﬂwéﬁwn%m
(4) WFIT‘H+6I’H
33. wﬁémé’%wafﬁfa%:
1) _ faorf<=a =geft %t (2) Hf=d aget =l
(3) TeaE aget # 4) P T F TN § T F

34. afE TSt B AT 10%, TR W TS < 10, ARG TeAH X 8%, TS WfaHia IO 60% B, @
ST G % TR HAT 9 HT Jo eI :
(1) 100 2) T87 (3) T 90 4) T77

o-osss [N 1
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35. A firm with high operating leverage has :
(1) Low fixed cost in its production process
(2) High variable cost in its production process
(3) High fixed cost in its production process

(4) Low variable cost in its production process

/

[

{
36. Match the items of List - I with List - IT according to “The Harvard Framework’ developed

for HRM : d
List - I List - II y -;_' "; r

(a) Stakeholder’s interest (i) Work /sﬁ";ems - |

(b) Situational factor (ii) Cost"r effectlvenelss

() HRM policy choice (iii) Ind1v1dual “beemg

(d) HR outcome (1Vl%l Government .=

(e) Long - term consequence 2 (;{j[ KBusiness strategy

Codes : __.h -

@ k) (©_ @ (@
M @ 6 6 b o
@ © @, 6@ 6
SO ) W) D )G
| ‘Ei) Ir (i) ()
|

37. The committees which promote worker’s participation in management are usually established

only at the :
9
(1) Qorporate level (2) Plant level
(3)  Shop-floor level (4) All of the above
o-ass [T s —
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35. U =9 U STAH dTell BH &

(1) cdre gfshan # feer AW 1 St 2

(2) SR Uishal H IREd-eie anTd STfee gl § |

)
(3) SeuTE Uik § feer @ stfrs gt 1
)

(4) S gfhan § IREdeiel @RI ¥ il § |

L
I-' r
36. TA.IR.UH. & fau faswfaa fmd T ‘' eras Taad’ & T7ar gt - Iﬁﬂ'ﬁ?ﬁ‘{ﬁﬁ I1 %1 Al 9

gHferd HifsT

T -1 g -1 o (
(a) Saurl w1 fed () wd q}é&ﬁ y ."
(b) et FrE (i) < - srwﬁf7 /
(c) TA.SIRTA. ifq === G CRIERED Wj
(d) T=R. gRom (ix? TR (
(e) refhTel ftomm ) () =i ot

@ B (© @
v 0 (@ @

M

@) &) WG @ G
fe @ "f) \ ) (i)
@ O & ) G @

37. YeEH B FHHIE i AWER! I Wiediied w7 STl HHfedl Y Tenfad &1 S §, |45
) T ' W (2) T ' W

(3) WMY-FIR &R R (4) W Tt T |

o-osss [N 1
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38.

39.

40.

41. ;

Choose the correct code for the statements given below :
Statement (I) : T-group and sensitivity training are not the same.

Statement (II) : T-group participants belong to a diverse groups and may not be familiar
with each other.

Statement (III) : T-group training sessions are well structured.

Codes : f
4
(1) Statements (I) and (II) only are correct {
lp' [
(2) Only (II) and (III) statements are correct
(3) All the three statements are correct - 4
"
(4) Only statement (II) is correct e , (
-

f/" |
A review is heavily influenced only by any one Char-acterlstlc of the employee whose
performance is being reviewed is known as: \
(I) Recency of Events Error (2) Central#dender}dy
(3) Logical Error n “(4) Halo Eifect

</ '
Vi i
Which one of the following tests is not recommended for the top level positions ?
(1) Presentations = . (2) Role plays
[
(3) Interviews | (4) Leaderless group discussions
"4
Select the major” r1nc1p1es which banks strive to incorporate in their working from the
following : f
(a) Profitability (b) Labour welfare
(c) Social welfare (d) Safety
\

(e)y, .HRD (f) Liquidity
Codesg:

1 @ b)) 2 @ @© @6 @) © @@ 6 @ @ ®)@ «d

o-ass [T 2
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38.

39.

40.

41.

oass

frefafea weAl & fae @&t %2 &1 =97 ST

AT (I) : - IR HAGTRITTA TIIET0T THH T & |
wmAF (1) : 3-TE | Wi o 9Tt fafie wEl @ gy 2 € s Eva ¥ R 3 tm-gm w
uRRfed 7 & |
WO () :  -Hog Ufaror 95 ol yohR § wXfed 3 €1
HE ¢ ;
(1) o e (I) T (I1) ¥ € | r "(r'
(2) Fad ®HYF (1) TS (III) T |
(3) |t A e g € (1
4) Faa HAR (1) T ¥ B % |
y A

IlI |
T R fors Fe T F1 51 w § S e i feran wsften = et g

AT §, ST FEd ©

L ®?

(1) =1 & = Jfe @ FEmwEfi.
%
(3) dfdhe Ffe ( ) %Fﬁ‘ﬁﬂ![
: X d
Y4
frevifera B & -9 TR0 1 Sod WA IS g W& el (a1 Sl § ?
(1) TR !:' . (2)  fF fefEs
(3) HETEHR “ | 4) arfE T ==
‘4
r.Wﬁ@ﬁfWWWWWW%WWWWMQWWﬁ CRG
(a) et .I (b) = e
(c) WS Hem (d) TR
(e)ll‘  TEL RS (fy e
FE: [

M @ (b)) 2 @ @© @ H @) © @@ 6 @ @ ®)@ «d

I 2
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42. Identify the years in which different phases of Bank Nationalisation took place in India :
(@) 1950 (b) 1955 (c) 1969 (d) 1949 (e) 1980

Codes :

43. ‘SWIFT’ stands for : /
(1) Society for Worldwide Inter-bank Fund Transfer { r
(2) Society for Worldwide Inter-bank Fast Transmission
(3)  Society for Worldwide Inter-bank Financial Telecommuﬁications

Al i
(4) None of the above ,// P

/ |
44. Select the techniques of monetary control adopted by RBI from the following :

(a) Cash Reserve Ratio (b) Statutory Liq@idity Ratio
(c) Bank Rate (d) ( Currency Raié
Codes : - j:

| Y

1 @ ®)@© (d @) =b) () (d) 3) @ (© @ @4 (@ (®)(©

45. Which of the followirig is ot a development banking institution ?
(1) IDBI ., (2) IFCI

"
(3) EXIM Bank (4) ICICI

46. Whrich of the following is not a characteristic of bartering internationally ?
(1) Bartering Jan be time - consuming.
(2) d Bartering can be expensive.
(3) - Bartering is a type of service export and import.

Bartering can be risky.

D.ass IHIIHII\II! IR
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42. T 9H1 F TgAH HifC S8 ard | SR & T & grery # fafie wwon § w5 gen ¢
(@ 1950 b) 1955 (c) 1969 (d) 1949 (e) 1980
e :
1) (@), () (), (d (2) (b) (o) (e (3) (D), (d), () 4) (o), (d) (e)

43. 'TH.TYIMEURA. @ ad
(1) WEES BR IeeaEs s8-d% 6 HH
(2) WHE TR TeEAEE TRk HRE ZHHIH
(3) WISl B TeeARE TSk WA HIA BRI £1-
(4) W A 9 wiE e 1 .
A
44. Frefafed § § ARALSTE. W STITE S AT} HZ1 Hefd TR H1 =TT HIT ;
(a) ool XM Ay ega@ (b))  Swifw ﬂ%w
() &% (d)y, T T ' Al f
¥z Ry, |
1) @ (b) (@ (d) (2 .(.15,'1(0),. (d) 3) (@) (@), (d) 4 (@) (), (9

(

45. mﬁmﬁaw—ﬁwwww%?
(1) o SLanaE. (2) T UH.H1.ITE.
3) fism S (4) o3 . o7,

A

46. Tr=fafed & @ SH-91 TR-TLEHE TR W - fafma gen 1 @i 78 82
- ag-fafmg § 9w o wear

(1)

(2), wrg-fafwe wreifen & @ ¥

3) . Eq-fafma T waR &t fafq R e de1 2
(4) o fafroa Sifeare & s T

o-osss [N :

W

Paper-III

www.examrace.com



47. Assertion (A) : International business has grown in more recent years at a faster pace than
global production.

Reason (R) : Growth through trade has increased, but growth through foreign direct
investment has not.

Codes :

(1) Both (A) and (R) are correct (2)  (A) is correct but (R) is incorrect

Ty

(3) (A) is incorrect but (R) is correct (4) Both (A) and (R) are incorrect

{
48. Identify the multinational corporations (MNCs) from the following :
(a) I1OCL (b) GAIL (c) «SBI 48
(d) SAIL (e) Tata Steel . & (D) %har%t Petroleum
Codes : ,-‘// < .
|

49. Statement-I: Legal agreements between two couﬁdrles govern how both the countries

tax earnings.
A f
Statement-II : International Law mhay determine how and whether companies can operate

in a certain lﬁ)ca ed
i
Codes : -

1 Both the statements-are true

-

2 Both the staten{ents are false

(1)
(2)
(3) Statement-I is true but Statement-II is false
(4)

4 Statement-I'is false but Statement-II is true

a

50. Which of the following is an example of an issue for which an agreement has not been made
between two or more countries ?

(1 l Restricting harmful emissions
(2) r Deep-sea mining in non-coastal areas of the oceans
(3) Freserving endangered species
(4) Banning the use of certain pesticides
o-ass [N 2 Fapeca
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47.

48.

49.

50.

AURAT (A): T & F aul H Sy eI it g H TR AR Hi g ifuw g8 71

T (R) : MR & Wem 9 g5 g ©, g Taet faeft frae & #ream & 781 g8 2
FE :
(1) (A) 3R (R) ST & €1 2) (A)FE ? WA (R) T B
(3) (A) 7T § T (R) ¥l T 4) (A) 3 (R) T TTera T

L
frfated o & sg-T<E frEi o1 g9 SN { r
(a) .37 H.Ta. (b) SHTIE.TA. ) TEdLAE. |
(d) THETIMETA. (€) zRI =i £ o -,_wr{a ‘?afam f
= £ )

D @ ®), @) (@ @) (®) () @) () _3{3) © @ @ O @ @ @ 6

\

HYIA-1 : ﬁf%ﬁ%aﬁﬂ‘@aﬂfﬁmﬁ%ﬁfﬁﬁmﬁéﬁaﬁ%ﬂ TS T THF HY T 2 |
HUA-11 : TR wrA Feifa mﬁ%wﬁﬁﬁq@%&am%@ i T |

%e: . i"d.){
Y4

(1) S T TR T -

(2) THI HUF A €

)
3) mm-lﬂ%ﬁ%‘;ﬁiﬁ%-nw%l
)

(4 E%-[ﬂﬁﬂ%ﬁ%%-llﬂﬁ%l

| ﬁmﬁf@ﬁﬁ@%—ﬁ?ﬁﬁwaﬂm%ﬁmaﬁﬁaawaﬁafw%sﬁé?aﬁ%rﬁ's‘

FHE T geT T ?

(1) eftens S B g F

(2)\ e & - e e-w e

(3) "Wwﬁ@fﬁuﬁmm
)

(4) TifR=d wie A ARl & TR W TR A
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51. Match the items of List - I with List - IT :

List - I List - II
(a) Intangible Assets (i) Ind AS31
(b) Impairment of Assets (i) Ind AS 34

(c) Interim Financial Reporting (iii) Ind AS 36
(d) Interests in Joint Ventures (iv) Ind AS 38

Codes : r

@ B © @ /.
®H @ @) 3§D () p ,
(2)  (v) (@) @) ()
G) @) @ @) (i) , {
(4)  (v) (D) (@) (i) !

E 3
g |i
52. Assertion (A) : Human Resource Accounting/'fg’ the m'é'a.surement of the cost and value of

people to the organization. ..'f |

I

Reasoning (R) : Human Resource Accounting invplves measuring costs incurred by the

organizations to recruit, select, hire,Sira"n and develop employees and judge
their economic value to the organi adaon.

r
J

Codes : .
(1) Assertion (A) and Reasoning &{)\are correct ar(d (R) is the right explanation of (A)

(2) Assertion (A) and Reaso‘fur}é (R) are correct and (R) is not the right explanation
of (A) Vi
(3) Assertion (A) is correct but Reasoning (R) is incorrect

(4) Both Assertion (A) and Reasoning (R) are incorrect

il -
53. For the dischaxnge of its f{mctions efficiently, SEBI has been vested with the following
powers : ]

(@) to apprdoﬁ by-laws of stock exchanges
/4 (b) to direct t]ri'?bstqck exchanges to amend their by-laws

(c) inspect the)
exchanges

ooks of accounts and call for periodical returns from recognized stock

(d) » inspect the books of accounts of financial intermediaries
(e) compel certain companies to list their shares in one or more stock exchanges

\
()% registration of brokers

Codes :
1) (g) ( ) (C) and (f) (2) (@), (9), (d) and (f)
) e) and (f) 4) (@), (b), (0), (d), (e) and (f)
passs | ll 2 Papec
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51. T - [ &1 7SI I FTHE - [1 I A&l § GAfd HIfT

ST - 1 ST - 11
(a) gwd grafal (i) TTTL 31
(b) GwafaEl =1 afa (i) T TUE. 34
(c) st fadta gfdaea (ili) 3 TTH. 36
(d) HgF IuHHA | fad (iv) 3 TUH. 38
% /
@@ () (o (d ;
® @ @ @ ()
(2 (v) (i) @) @)
@) @Gv) () G (i) e’
@) @Gv) () (@) (i) 4 - ‘} 'i
52. fwerm (A): nmu@mé@m@m%ﬁé‘nﬁﬁw@*www%
T (R) : T S SEiE e B g i 1 oefl, =, Fraf, wfe, T
foreRTe 1 ANTd & HIYA T ST ﬁf\aﬁ aﬂfé%tgvaa?aﬁmqmwﬁw
ExGIR S
(1) W(A)@ﬂ%(maﬁﬂé%wm)ﬁaﬁ%m(R)m-cn%ﬂ
) ﬁm#(A)qaaak(R)W%W(A)ﬁaﬁwmﬁém%
3) W(A)W%W%(R)W%l
(4) ﬁW(A)QHHEﬁ(R)‘Qﬁ:ﬁW%I
53. 3794 HMEl HI gp?lc'ldliqch wiq-r YA B el ! A Afuer gem v ™ €
(a) ¥ f‘avﬁrwh o YA I SFTAINCT HLAT
(b) waﬁq&@aﬁaﬁwﬁaﬁﬁa@mw%mﬁ%mam
( () W@%ﬂ%ﬂfmﬁ%é@wﬂﬁﬁmm@wﬁ%ﬁaﬁ%ﬁﬁwm
(d) foriia aeareli Y ot q&ahi i Sie Sl
(e) / @m@ﬁﬂi’ﬁaﬁaﬂﬁaﬁ@m 3Ter Ry faufirl # STgfed g & fag e s
(f), TATEl BT GSHHII HIAT
%24
1) @, ) (© () 2 (@), (©, () 3D
(3) () (@) (d) (&) ¥R (f) @ @, b)) (@) (o) ()
oosss TN AN -
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54.

55.

56.

Consider the following characteristics :

(a) High risk high return opportunity

(b) Small and medium size enterprise

(c) Private equity stakes in start-ups

(d) Investment fund

The above attributes are found in : A

(1) Mutual Funds (2) Venture Capital Funds { 2
(3)  Qualified Institutional Buyers (4) Domestic Institutional Investors

L

r

Identify the incorrect statement(s), regarding money, market, ainongﬁ- the following :

(a)  The call money market deals in short term lﬂ?l’ance ré"payable on demand, with a maturity
period varying from one day to 14 dayﬁﬂf |

(b) Treasury bills are instruments of short-term rr(_)izving by the Government of India,
issued as promissory notes under discount.

() A reduction in the repo rate helps banks to get money dta cheaper rate.

(d) Money market mutual funds ini%/ést money in S}geciﬁcally, high-quality and very short
maturity-based money ma!ked- instruments.

Codes : __h /
1) @and (@ (2) (b
3) (@ { - (4) None of the above

“Buyers are Tesk price sensitive when they cannot easily compare the quality substitutes”.

.~ Which of the following factors of price sensitivity is reflected from this statement ?

(1) Substitute 4lawareness effect (2) Unique value effect

(3) Price quality effect (4) None of the above
' |

\
The model of decision support where there is recommendation of the type of advertisement

57.
with' humourous and ‘slice of life” kinds of appeals to use for given marketing goals and
characteristics of products, target markets and competitive situations is known as :
(1) MEDIAC (2) PROMOTOR (3) ADCAD (4) COVERSTORY
oass || HVROANAN 2 —
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54, fr=fafaa fagmaen w® faer wifsu -

(a) =9 SIfEgH =0 qfdhel GTaH

(b) <Y TH HEAH WF IUHA
(c) A Tl # et @t fea

(d) fafam =

ST o1 e B U W g r

(1) IRERe fafeei § (2) wmefae qit e A i
(3) AT HEUFA shatedl § (4) =N 9EUWQ faftarsen 4

55. Hgl-ooR % oo H frefafed § 9 6 wem(F) & 9= Sifsd ¢
(a) TI-TE IR STeUHE AT R AT faa # HeaeR s %\’t et aRteaar safy & 9

<ee fa 1 & weell ¥ A 7
(b) Y o T TR G oA T STl 3 A R e e R e v
w9 F R S 2 ' /

(c) YWY H FHl @ SRl FH R W T I FA H geraar fHerdt €

(d) @WWWH@W@WWWQFHW@@%WW
mﬁgm—wuﬁﬁﬁﬁﬁmﬁ%ﬁﬁ _
-«

%< : ) <
1) (@ T (o) " 2) (b
B) () . (4) SR H § wE T

{
56. “Wﬁﬂﬁ%g&lm?ﬁﬂ‘jﬁﬂﬁﬁﬁ%wé Tl FfaeeTTeh 9% i ST | garl el <
Tad g 1"

‘4
rmwmm,mﬁ@ﬁmaﬂﬁq—wwmvﬁﬁmém%?
L) TG g (2) e g T
(3) “RITd U1 YT (4) SURE H 9 DI5 &l

|
57. ﬁﬂﬁmﬂﬁaﬁlﬂﬁ@mﬁfﬂm%ﬁw ‘TR AT ARE’ SE Al
faqum wiga, ScaTe oteTor, wifeta ISR U wfaeqeuicres feafadi & fa w&m ar €, 39 +ed ® ¢

(1) Hfifeas (Tmidem ) (2) e (e e T e A e e
(3) TSHe (TIHTEL) (4) FREL

o-osss [N 2
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58.

59.

60.

61.

Which of the following statements is not true ?

(1) Marketing profitability analysis measures the profitability of different marketing
activities.

(2) Marketing efficiency studies try to determine how various marketing activities could
be carried out more efficiently.

(3) Each company needs to reassess periodically its marketing effectiveness through a
control instrument called marketing audit.

(4) All the above are true F
7

Industry boundaries are blurring at an incredible rate as companies are fecognizing that the
new opportunities lie at the intersection of two or more industries, it is-called :

L

(1) Globalization (2) Customization . ;
(3) Industry convergence (4) Acquisition [ (
' *

A picture of two characters is presented, with one making a statement. Respondents are
asked to identify with the other and fill in t]r}é empty baqbon.

This description belongs to which one of the following :rojective techniques ?
(1) Thematic Apperception Test (2)  Picture €ompletion Test
(3) Sentence Completion Test " (4) Story C?rﬁpietfon Test

e

Match the items of List - I witp‘t‘ﬁed._items of List - IL:
i

List- I - List - IT

(Job Analysis) (Examples)
(a) Task !i' (i) » Payroll processing
(b) Element ' (ii) | Compensation policy administrator
(c) Duty (i) Compensation design manager
(d) POSitiOI‘l (iv) Compensation specialist

" (e) Job :f \ (v) Preparing forms

(f)  Occupatio (vi) Signing pay- cheques
Coc}es : -

@ ®) [ @ () (@
M @ @) G @) (v)  (vi)
@I o) O @ @) )
G) @) (v) Gv) @) @) ()
@ v @ G @) (@) (V)

o-ass [ TANNR 50 —
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58.

59.

60.

61.

frefefad & @ HF-91 He 98 T 82
(1) fawom e favera fafus fauom fensti w1 anueaar 1 o |

(2) ToIUR Ter STEAIR AT TG T HT WA I © T foavE w1 fafve foransti w1 stfiren e
& 919 w4 fopan s |

(3) UcH® HFH! Sl =NRC foh I8 THI-FHY T fI90M Siheqo gr foqvM <&fd1 i qA: Hedi
F|
(4) ST Tt TE

L
SNt HiTd stferee i S Yfia 7e @ wife wrafEr 98 Tear W §fe 16T s 3
Y feren ST i SR T ARG €, 39 Fed §

(1) vt (2) TEERFE!

(3) SEM HHIW (4) erferreom o (

aaﬁﬁwﬁﬂﬁ@mw%ﬁ@@@ﬂﬁﬂ@éﬁ%@%l STRIATST | TH IR ol TgaT
T WTelt TeaR 1 A 1 gl Sl ¢ |

g faero frafafaa verd fafie o 9 feaw WF%JH%?
(1) TARE AFES e THeT0 ) f== e
(3)  aT YUIEhROT qtETor W @) e Eﬁmm ne

ol - 11 g - Haﬁqa’f‘\ﬁ‘*gﬁﬁﬂﬁﬁq
Tt - 1 - T - 11
SIERCECLELP) ( 3aTeYuT)
) & { ’{ () I TAF UlHIm
b) @ . (i) wfaqfd ifq gemes
) . ke W (iti) wfqafd fesme yereren
) “N (iv) wfqafd foerem
f | (v) R T Fa
' (
(@) (b) I(C) (d) () (f)

vi) SIS <ehi U BEIER AT
@ @) (@) @) (v) o (vi)

a
)

™ V) ) @ @) (@) )
) (Vi) (v) @v) () @) (@)
) M @) () @) (V)

=

7
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62. In which of the following types of collective bargaining, one party gains at the expense of the
other ?
(1) Distributive bargaining (2) Integrative bargaining
(3) Centralized bargaining (4) None of the above
63. Which one of the following dispute settlers cannot make a binding decision ? ¢+
(1) Arbitrator (2) Adjudicator -f; )
(3) Conciliator (4) Industrial tribunal membef f
64. Ensuring the safety, health and welfare of the employee is the }-)rlmary purpose of which one
of the following Acts ?
. 4% °
(1) The Factories Act, 1948 / !
(2) The Payment of Wages Act, 1936 fr-'r ' _g"
(3) The Equal Remuneration Act, 1976 \ {é
(4) The Industrial Disputes Act, 1947 — £
A (
«/ '
65. Match the items of List - I with fhed'-items of List - IT and select the correct code :
List - I . List - IT
(a) Pension scheme « _ (i) Health Care for family
(b)  Personal security | (i) Severance Pay
(c) Financial-i;assistance (iii) Provident Fund
+(d) Allowances ._ (iv) Transport Allowance
I Codes f |
(@ (®) (9 ()
a0 6@ 6 @
@ L) 0 () (@)
@) @) @ O
(4) (v) (i) (i)
s IHIIHII\||!|||I\H\II\H||||\|H|\|H||\|HH|||||\|\||H| 8 Fapeca
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62.
63.

64.

65.

@ @O
vss [[[[J{]

frefafed arfes dicarst & YRl § § fHad T 987 I SO 981 1 HiFd W 1 21 § 7
(1) foaRo Feerst (2) T HieTsi
(3) H=IIFHd HiesTsi (4) ST HF HiE T
foame =1 arem aral | fAfated § 9 fege Fo suaeart 7@t e ?
(1) foam=es () sAfufTofams i
(3) YeAEHR (4) AT =T 95 | f
FHAR i TR, T IR FHEA Hl AT LT Fw‘aqf%rﬁa;-g Eq| QTWE%W 22
(1) @M AEH, 1948 // | ,: |
(2) wEh sreRrtt s, 1936 / -'
(3) TN wiRafE sfafem, 1976 ; \ '/J
(4) Tt feemg stfafem, 1947 .4
A f

W-Iﬁﬁwgﬁ-ll%ﬂﬂ}@%ﬁmwﬁﬁw :

T -1 ” T - 11
(a) TREARE Y () e % ford wemeen dan
(b)  SAfRT e N (i) U
(c) = fo<ita 14%13?11 (i) wfas fafy

(iv) AT 9=

C)
?:clg_d':
~(a) (b) '| () (d)

(11‘
(2)
®3)

S| ‘f-

®) G () (iv)

v @ @ ()

i
@ @ O
i

) (i)
I

iv)

(
Ml

i
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66. Examine the following statements and choose the correct answer :

Statement - I : FlIs do not invest in unlisted securities. They participate only through Stock
Exchanges.

Statement - II : FllIs cannot invest at the time of initial allotment.

Codes :

Ty

(1) Both the statements are wrong

(2) Both the statements are correct {
Ip' r
(3) Statement-I is correct but the statement-II is wrong _
(4) Statement-I is wrong but the statement-II is correct = : ¢
F ks
- (

-
67. Which one of the following is not a member cfé‘r'ltry in the Association of South-East Asian

Nations (ASEAN) ? / . !
(1) Singapore (2) Malaysia ,f (3) 'slj;j'{and (4) Vietnam
68. Match the items of List - I with the items of List - II gnd select the correct answer with the
codes given below : - J: .
List - I B List - II
(a) SAARC A (i)  Philippines
(b) ASEAN { ’{ (i) Canada
(c) EU - (i) Afghanistan
(d) NAFTA i: (iv) Hungary
: Codes : f '
(@ (b) () (d)
Q) @ @) e
@, @0 @
@) G ) (v) (i)
(4) (D) (@v) @) ()
o-osss | [[{IFHUAVA AN ’ —

www.examrace.com



66. TTefAfEd FHuAl W foaR FINA T8 W& S| H1 997 Hifed
ANIRIT - 1: TH.TR.AES. sryieg Fiagfadl o faw 7 #dt €1 9 Faa whey faufon &

HqTeA| | 9T it ¥
AMIRYT - I1:  TH.3TME.TE.5. TRAEYF eTee & Tua fa9 Tei & Tardl €1
e :
(1) I weA Terd ¥ P
(2) TH wmYT TE | { r
(3) HAF-1HE & W I 7Terd 2 |
(4) HYA-17Ted § T 11 TR 2| y .
p » 'i
B T B w"iq.mg.q.uﬁg 1 T T T T
(1) T @ wfm | @) 5{?@ @
68. W-Iﬁuﬁwfﬂaﬂvﬁ-naﬁﬁ%waﬁﬁﬁ{d—%;ﬁnﬁ@ﬁ’@ﬂﬁrwww
FHISS . d_{
et - 1 M el - 11
(a) THLTIRHEL (!}Tra%)x () Trefdig
(b) TTHITE (wiﬁm) (i) TS
(c) 'sc'{ d d. (i) SR
/() Q‘rr.q.qqafr.{? (T{F‘{ET) (iv) T
%<
~ (@) (b) .I () (d)
(1) @) Gv) S6) ()
@) @ O G
G) @) O () @)
(4) (i) (@v) () (@)
oosss TN AN .

www.examrace.com



69.

70.

71.

Which among the following are criticisms given against World Trade Organization (WTO) ?
(a) It is not a democratic and transparent institution.

(b) It has domination of international trade by rich countries for the benefit of their
individual interests.

(c) It encourages a ‘race to the bottom’ in wages by pitting workers against each other
rather than promoting internationally recognized labor standards.

Ty

(d) Itis seeking to privatize essential public services.

Codes : {
lp' [
(1) (b), (c) and (d) (2) (@), (b) and (c)
(3) (a), (b) and (d) 4) (@) (b), (c) and (d) :
{ °,
1 {
Domestic Currency tends to depreciate owing }-6( ; <
IIII' |
(1) Constant inflation rate (2) fLowering qlf inflation rate
/ f
(3) High inflation rate 4) " All of ‘};‘ébove

F
Fd

-

Consider the following conditions : % ¢ f

(a) An individual is in India fer {a{period of 182 dalys in the financial year in which he is
getting his salary income. s

(b) Anindividual is in India for a period of 60 days or more during financial year in which
he gets his salary and 365 days or more during 4 years immediately preceding to that
financial year. g1~

If one of the above conditi!ms is satisfied, as per the provisions of Income Tax Act, 1961, he
is: ]

Resident gut not ordinarily resident of India

1)
- |
(2)  Non-resident citizen of India
(8) Resident and categorised citizen of India U/S 29
(4)" Ordinary liesident of India
\
L]
72. Agriculture income is exempted from income tax under the following section of Income Tax
Act, 1961 :
(1) 2Q1A) (2) 10 (1) (3) 10 (2) (4) 10 (4)
el TR s —
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69.

70.

71.

72.

frefafea 9 9 =19 fava =R T8 &1 =T § ?
(a) T T AlHAlH TS TR T e T
(b) THH AfwT fedl & el & 3 ST SR § THR S &1 99 < |

(c) % ST WR W HI=dl YT 97 HTehi ohl eTal o o TIM TR Al il Th-gR & faeg
FTh gl I T FT SR A M T WieHTiEd BT §

(d) =8 Afar SH-gfawmsit w1 s S 9 S|

1) () © T () @) (), (b) T ()
() (@), () T (d) 4) @ 0T @),

e qe1 ¥ ford RO g ST § 2 / ]
(1) feer geremifa X 2) | ' ﬂlwﬁmmw
(3) =4 EERIM (4) W ;
fr=fafea v ® foer st <, i

@)@mmwﬁwﬁﬁﬁ%%m%ﬁ%@wﬁmﬁm@mﬁﬁmm
TR

(b) @wﬁaw%ﬁaaﬁﬁ WA H 60 A1 SATHe el & fore Tea © 31K 36 fag a7 o
3l & U9 39 gw%ﬁ%zﬁrﬁﬁﬁ 365 a1 3HY 31fyes el & fau ara o war g |

aﬁwa{uﬁm 1961 % 27¢fi7 fordll U I 1 T HIAT © @

S (1) 8 Tem Sty e wrd i e T2 ¥

(2)  RG 1 SRR A ¥
(3) . &I 29 % FHIA Hifcds TNE TS G HI ot T
@)

I
4) WG KT HIENOT AN & |

s Ssrfferm, 1961 %1 fora YR % ST H A R TR H B W T2
1) 2(Q4) (2) 10() 3) 102 4 104
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73. Match the items of List - I with List - II :
List - I List - II
(a) When the assessee is in default or is deemed to be (i)  Section 271 (1) (c)
in default in making payment of tax, including
the tax deducted at source
(b) Failure to pay the advance tax as directed by the (ii) Section 273 (1)

Assessing Officer

(c) Concealment of particulars of income or (iif) Section 201'F (1)
furnishing of inaccurate particulars of { "
income | F

Codes :

@@ (k) () - N

O O @ G & T4

@ G @ 0 " B

@) (i) @) (i) ,.f'// |'

@) G O G /

74. Assertion (A) : Tax evasion is undertaken by empl gﬂ‘g unfair means.
Reasoning (R) : Payment of tax is avoided through i
Codes : Y
(1) Assertion (A) is correct a@ Reasoning (R) is the right explanation of (A).

egal meéans or fraud for tax evasion.

(2) Assertion (A) is correct plit Keasoning (R) is not the right explanation of (A).

(3) Both Assertion (A) and Reasoning (R) are correct independently and (R) may be
considered as an explanation of (A).

(4) Both Assertion (A) and Reasoning (R) are incorrect.
[
75. Which among the following are necessary documents to file Income Tax Return for an
employed person in India ?
(a) Adhar Card
[ (b) PAN Cardg
() Form No. 1 1ssued by employer

Codes : :
(1) (a) only | (2)  (a) and (b) (3) (a) (b)and () (4) (b)and ()
h{ -00o0-
o-asss [T s paperm
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73.

74.

75.

et - 1 TS Gt - 11 &1 Gafed hife
T - 1 T - 11
(a) STd HIQA T Fhdl 7 H Td @ R FHIE () ¥ 271 (1) (o)
T T T AE 7 HTH H1 AT 7 AT e 7
TR
(b) = FraRe sifer g e a1fie =6 =1 (i) oR273 (1)
PTAE H § TIHSA | H-

(c) 3 % faaRoll sl UM a1 ST 1 Terd foamor | (iii) HT{Tr201 1) "'tr'

@@ (b) (o)
G) (i) (i) (1
) " - |
i) /./ |

if) ,.'f |

d
(i
g
Froer (A): it s e A e o £
e (R) : TR AR T R T ool e St WAl Bt Wer foran W €
& : 4 (
(1) Froer (A) 98 ? iR (R),44) 1 T IR
) W(A)W%W(E)A(Aﬁ'aﬁWWﬁ%l
3) (A) 3R (R) S = w9 ¥ Tl § SR (R) I (A) 1 L A WHT S GehelT & |
(4)  (A) 3T (R) AT € |

i

. |
IRd o9 # Ffd t SAfe & fad e faero yxqa & 7 Fefafed § 9 #F 8 e

AETTH §7 4 4

J(a)  SMEREE 4
L) T () w1

() freirer GRI fean Tran e HeEA 16
Fe: |
(1) F9 () @ @B Q) @OIQ @ O
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Space For Rough Work
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